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QUESTION 1

What log will contain information about connection failures to the cloud storage provider?
A. Event log

B. System log

C. User log

D. Server log

Correct Answer: B

QUESTION 2

Which benefits below does Whitewater appliance provide? (Select 2)
A. Server and storage consolidation.

B. Load balancing backups.

C. Reduce cost over disk to disk backup.

D. High Speed TCP optimization.

E. Eliminate tape backup.

Correct Answer: CE

QUESTION 3

If a user is considering having backup data sent to Amazon Glacier, select which recommendations should be reviewed
to ensure Whitewater appliance is appropriately designed for the environment? (Select 2)

A. Whitewater appliances should be sized larger to reduce the amount of potential access activity from Amazon
Glacier.

B. Whitewater appliances should only deduplicate against local cache storage and not against local and Amazon
Glacier storage.

C. Whitewater appliances should only accept archive data if using Amazon Glacier storage.

Correct Answer: AB

QUESTION 4

If a Backup Exec server is going to maximize throughput to a physical Whitewater appliance, how many backup to disk
folders (or storage targets) should be created on Backup Exec server?
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D.4
E.5
F.6

Correct Answer: D

QUESTION 5

After connecting a Granite Core appliance to a Granite Edge appliance, all Granite appliances configurations are
completed at:

A. The Edge
B. The Core
C. The array
D. The server

Correct Answer: B

QUESTION 6

For which use cases below is a Whitewater appliance best suited? (Select 3)
A. Backups and recovery.

B. Archive.

C. Primary data.

D. Database backups.

E. Disk replication for primary storage.

Correct Answer: ABD

QUESTION 7
On which of the following file system types does Granite perform block prediction and file-level readahead? (Select 2)

A.NTFS
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B. EXT3
C. VMFS
D. UFS
E. FAT32

Correct Answer: AC

QUESTION 8

What is the minimum size of the data store disk for the Virtual Whitewater appliance?
A. 5% of the cloud license capacity.

B. 10% of the cloud license capacity.

C. 15% of the cloud license capacity.

D. 20% of the cloud license capacity.

E. 25% of the cloud license capacity.

Correct Answer: D

QUESTION 9

When configuring high availability for Granite Edge, which of the following is true?
A. MPIO is enabled on a Steelhead EX appliance to achieve high availability.

B. A pair of Steelhead CX appliances act as active/standby peers.

C. Granite Edge does not support high availability.

D. A pair of Steelhead EX appliances act as active/active peers.

E. A pair of Steelhead EX appliances act as active/standby peers.

Correct Answer: E

QUESTION 10

Granite appliance has deep snapshot integration with which vendors? (Select 3)
A. Hitachi Data Systems (HDS)

B. EMC

C. NetApp
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D. Dell EqualLogic
E. 3PAR

Correct Answer: BCD

QUESTION 11

On a Granite Edge, which is used to store transient data, per example, no requirement to replicate back to the data
center?

A. ESXi partition
B. VSP partition
C. Local LUN

D. Pinned LUN

Correct Answer: C

QUESTION 12

Which transmission protocols do Whitewater appliances support? (Select 2)
A.iSCSI

B. NDMP

C.NFS

D. OST

E. SMB/CIFS

Correct Answer: CE

QUESTION 13

Which of the following storage array features does Granite appliance allow customers to take advantage of? (Select 2)
A. Deduplication

B. Extends data center thin provisioning

C. Backup and restore

Correct Answer: AB
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QUESTION 14

A customer has decided that "application consistency" is a requirement for his Windows application that is currently
residing on a LUN\W's on his NetApp SAN. This LUN, which contains both the operating system and the application in a
Windows VMDK have been presented out to a branch. Which of the following data protection strategies would NOT
meet the customer\\'s requirement?

A. Host-based backup agents at the branch.

B. Host-based consolidated backups at the branch.

C. Backup from a scheduled LUN snapshot in the data center.

D. Backup from a RHSP LUN snapshot in the data center.

E. Backup of a Granite appliance assisted consolidated LUN snapshot.

Correct Answer: C

QUESTION 15

What two components are required to form an iSCSI connection? (Select 2)
A. An iSCSI initiator.

B. An iSCSI source.

C. An iSCSI client.

D. An iSCSI server.

E. An iSCSI destination.

F. An iSCSI target.

Correct Answer: AF
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